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(Time: 3 hours)

N.B. (1) Question No. 1 is compulsory X
(2) Answer any three questions from Q.2 to Q.6X
(3) Use of Statistical Tables permitted. :
(4) Figures to the right indicate full marks

~1.2 38 -
Q1. (a) If matrix A = [ 03 5 ]_fﬁnd Eigen values of A3 +5A + 8L ' [5]
186 0 =2 , '

(b) Evaluate the integral [, *'(x — y + i x%} 2=y, (5]

(c) Find the z-transform 'o-_ [3]
(d) Maximise 2=

Subject to %id
.2 X, +

~ ofthem a (5]

And hence — . (6]
(b) The means of two random samples of size 9 anct'?are 196.42 and 198.82 respectively
The s s of the deviations from the means are 26 94 and 18. . Can

The samples b | be _ , populati 6]

[8]
QS (a) Find the Laurent’s series for

4z43

s valid for 2<2] <3. (6]
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(b) Using the method of Lagrange’s multiplier solve the N.L.P..

Optimise z=12 x;+8x, + 6x3 — x}

- x% ~x% —-23.

Subjectto  x; + Xp+ X3 = 10. X x3 x3 20. - [6]

(c) Marks obtained by students in an examination follow normal distribution. If 30 %

Of the students got betow 35 matks and 6 got aboy ‘marks. Find the mean and standard
deviation. a5 ' ; ' 8]
Q4 (a) Find the Ei 16)
(b) Find inve [6]
(c) Using._ | [8]

X1, X 20.

fia

_ —9 4 4
Q5(a) Show

- n ] is diagongﬁﬁble. Find.the

K A
1 -16"8 7

form D an [6]
(b) Flnd the rel
[6]
(c) Evg_Lpgte $ G G is the
circle |z} =1. % (8]
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Q6 (a) The number of car accidents in &ﬁ‘étropoht@rmty wasmund to be\ _..:\"‘ "
20,17, 12,6,7,15,8,5, 16 andﬂpermoqfh'respectwely Use x%w~test x )
To check whether these ﬁ'eqpencles are m-agreemen@mth that ocﬁurrence was @t
The same during 10 months pcrlod Ts;s’t at5 % lewel of mgxﬁf icance. _ __“»'I[6] 0
(b)Find z-— transform of [ 2% cos ( 3k 2] }5 > 0. ' : _-fi.“ (6]
(¢) Use the dual simplex metho%% solve th\&ﬂ P. k . 18]
Minimise'® z= | 5
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